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g 2 XA £ BEX INE 2 XA £ BEX
1 HRRACHT 63. 87 37 5 Al 51.50
2 Sz E X 60. 54 37 KT 51.50
3 T 1 L1 T 59. 79 39 B e T 51.41
4 /N 1T 58. 59 40 REA T 51.38
5 SNz EHHRX 57.23 41 SV EHEK 51. 36
6 -y elil} 56. 42 42 ATHTH 51.13
7 fudg 56. 40 43 S T 51.05
8 HE AT 55. 85 44 SEF 50. 89
9 SN FEHREX 55. 38 45 SNz E T REX 50. 82
10 JIL 5T 55. 26 46 —HRTh 50. 45
11 & LT 55. 25 47 LR 50. 11
12 8 )11 54. 75 48 AT 50. 03
13 e EmdbX 54.70 49 e 50. 01
14 FlRAT 54. 47 50 PAEH 49. 93
14 SR 54. 35 51 NGl 49. 81
16 e 54. 14 52 Y 49. 69
17 T E MK 54. 00 53 T 49. 64
18 FeAT 53.91 54 Cyahi] 49. 61
19 flBET 53. 82 55 Ik 49. 58
20 /N JEE S BT 53. 80 55 Wil 49. 56
21 gAY 53. 79 57 F & LT 49. 40
22 FriR 53. 70 58 AT 49. 26
23 53 53. 61 59 SV o ETRX 48. 98
24 o T 53. 28 60 Eny 48. 85
25 i NITE) 53. 25 61 ES=ily 48. 54
26 H & 53. 18 62 fnZE i 48. 48
27 = MY 53. 08 63 w R 48. 47
28 e 53. 03 64 . NE] 48. 36
29 EARHT 52. 81 65 Jio 48. 14
30 P 52. 65 66 G 48.01
31 =h 52. 49 67 ) [T 47.12
32 Sz ETIREX 52. 34 68 R 47.00
33 Bl 52. 32 69 JHLSHT 46. 40
34 AT 52. 31 70 I\ 46. 38
35 T 11w 52. 06 71 SV ETTAERKX 46. 33
36 R 51.62 72 FARET 44.179

7 E 51. 14




